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1
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The missing co-ordinates of this square are (8, 7)
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When plotting the co-ordinates of a square
on a grid, two of the points will have the
same Y co-ordinate and two of the points will

have the same X co-ordinate.

Answers on next page —no peeping!!!




Answers

False
L. The missing co-ordinates are (7, 8)
We record the X co-ordinate first.
“é (7,8)
2.
False

This will not always be the case.
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Divide 32 by 100

What number is represented on the grid?

Ones @ Tenths Hundredths

Whrite — as a decimal.

10

What is ,000 less than 8,793?
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)] Complete the part-whole model.

Write == as a decimal.

100
90

How many tenths are equivalent to m’?

Find the total of 3,476 and 964

F |as h b aic k y Year4 Week1 Day3

) Complete the equation.
| =056 +

Write 0.67 as a fraction.

What decimal is shaded on the hundred square?

Find the product of 12 and 7

Answers below — no peeping



Answers

F | a s h ba c k L‘ Year4 Week1l Day
D) Divide 32 by 100 0.32 @

2) What number is represented on the grid?

Ones Tenths. Hundredths
® [ 1) ®® 143
0| ©
3)  Write % as a decimal. 03

Y)  What is 1,000 less than 8,793? 7,793

F | als hpal€ k 1] Year4 |Week 1| Day2

] Complete the part-whole model.

2)  Write & as a decimal. 017

90
3)  How many tenths are equivdlent to W? 9 fenths

4)  Find the total of 3476 and 964 4440

Flashbalck 4 Year4 | Week 1

)] Complete the equation.

I =056 + 04

67
2 ite 067 fraction. —
) Werite 0.67 as a fraction. 100

3)  What decimal is shaded on the hundred square?

.

Y)  Find the product of 12 and 7 84




